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Note : Answer questions from each Section as per

instructions given.

Section—A

Note : Answer any two questions from this Section.

2x20=40

1. (a) Utility function of an individual is given by
U — f (X, y) — X3/4y1/4 .

Find out the optimal quantities of the two

goods using Lagrangian method, given

that price of good x is ¥ 6 per unit, price of

good y is ¥ 3 per unit and income

(I) of the individual is equal to T 120. 10

P.T.O.
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(b) There are two commodities X; and X2 on

which a consumer spends his entire income
in a day. He has utility function U= XX, .

Find out the optimal quantity of X; and X»
if price of X; and Xz are T 5 and T 2
respectively and his daily income equals

% 500. 10

What do you mean by the concept of dynamic
stability ? In Cobweb model under what
condition equilibrium is dynamically stable,
when there is linear downward sloping demand

and linear upward sloping supply curve ? 20

What do you understand by Walrasian dynamic
stability ? Derive the time path of a
disequilibrium point under Walrasian dynamic

stability analysis. 20
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The following production function is given :

(a)

(b)

(©

(d)

(e)

Q - L0.75 KO.25

Find the marginal product of labour and

marginal product of capital. 4

Show that law of diminishing returns

holds. 4

Show that if labour and capital are paid
rewards equal to their marginal products,

total product would be exhausted. 4

Calculate the marginal rate of technical

substitution of capital for labour. 4
Find out elasticity of substitution. 4
Section—B

Note : Attempt any five questions from this
Section. 5x12=60

5. Describe long-run equilibrium condition of the

firm and industry under perfect competition. 12

(a)

Establish the following relationship : 6

MR:P£1—iJ,
ep

P.T.O.



7.

9.
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where, MR = Marginal revenue
P = Price
ep = Price elasticity of demand

(b) A monopolist has the following total cost

function :
TC = 10+ 5Q.

If the price elasticity of demand for his
product is —2, find out what price he will

fix for his product. 6

Define the following terms and discuss their

equilibrium conditions :
(a) Monopsony 6
(b) Oligopsony 6

What do you mean by value judgment ? Write

the general form of social welfare function. 12

(a) What do you mean by St. Petersburg
paradox ? Why are uncertain prospects
worthless 1n wutility terms than certain
ones, even when expected payoffs are the

same ? 6
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(b) What is a lottery ? Differentiate between

simple and compound lotteries. 6

10. (a) Explain the dominant strategy. How is a
stable equilibrium reached when a firm

pursues its dominant strategy ? 6

(b) What i1s Nash equilibrium ? Does the
equilibrium in a prisoner’s dilemma game

1s a Pareto optimal ? 6

11. Describe the types of contingent strategies and

payoffs. 12

12. Derive the equilibrium under Bertrand price

competition. Explain Bertrand paradox. 12

P.T.O.
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1. (31) Uk Afgd T IYANTA T 39 ThR fean

% *
3/4,,14

U=T1(xy)=x"y
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FHIHd 6 TIF U THE, y a& DI HiEd
3 T8 Wfd THE IR wfE %1 E
@ =120 T0 § €& 2| 10

() X; 3R X, A a&qq &, f5F o T Ui,
w A ¥ o T e md s R
IHE ST wed U= XX, Bl AR
a5 X; 3R 9% X, HI HIHd HAL: 5 T
AR 2 T9F B, WY & IHH! YSET H1 A
500 T4 ®, @ & X; 3R X, HI A

qrl S1d it 10

2. TATHE TEoRAl &1 STEURUN § o9 = §Hed
$ 7 wF FrEad A § feu Rl d Hger
nfaehie (TearHR) w9 @ fEeR Bl €, S& Wi
ok swmet (F= # 3R) oA & 3R
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P.T.O.
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3. AR 1 Tfasiel feerar 9 o9 =1 993 © ?
IqeRE & Tfaeid (qfEdasie) feerar fagaso

[aWa
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20

o o

4. TyefafEa SR wer fEan gan @ :

0= LOTK
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(9) gWien f wed wfawa &1 W @r @ @
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(%) o9 & foau it o1 deh-ienl ufqeerds i
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HIT—9

e : 3@ 9 H 9 fedl e g & S| I

5x12=60

5. uol yfafiar & of@ia wH SR sEm &%

et He i I 1 Ui Hifad| 12

6. (37) FAfafad gay fag sy ¢ 6

MR:P(l—i],
ep

&l MR = Hmid s (i 3mm)
P = &Hd
e, = i H HHd A
(A) T THMYUSH w1 KA AN Hold
frefafaa € -

TC= 10+ 5Q
Ife IHH ST B AT B A — 2 ¥, dl
HIHAd Fd HINT S 98 3T IR & fag
sefcaul 6

P.T.O.



7.

8.
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frafafed of &1 oRenfed #ifw 8k 39

Tqe 1 I bl Tl DT
(37) Thshal¥hR 6
(9) SATThANERR 6

aH frofa 9 o9 R gHs@ © 2 @Eifae &

() T®ed 1 9HA J&9 fafEm) 12

(31) Fe dicder foifd 9 o9 w1 9wed
g 2 SuAifar = 3fte 9 erffyea e,
fafeea Gomemret &) o & frdew o ®

SEfeh YT gfaeE ot 99H © 2 6

(9) afed =1 & ? guRe IR fufya ofed o
AW T Hif| 6

10. (1) 99l g 1 TIC hifew| Toh Feer dqe

fohg TR 9 Bl & Sd Tk BH O
gl gfer SO @ 2 6
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(&) 391 WIS N ® 2 F b w1 gaH B

Y Hqer Wel Taq el € ? 6

11. AT IfRal & YR S Siawiia o1 ool
hifeIu| 12

12. IZUE HIFA AN & dd Fgad i Fearq
hifeq| s2vs foRienfaa =i T Sifsm) 12
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